Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

ORIGINA!

Operator: License # 31389	API No. 15 - 191-22351 0000
Name: Noble Petroleum, Inc.	County: Sumner County, Kansas
Address: 3101 N. Rock Road - Suite 125	C-S/2 SW SE Sec. 11 Twp. 34 S. R. 1 East West
City/State/Zip: Wichita, Kansas 67226-1300	
Purchaser: N/A	feet from (b) / W (circle one) Line of Section
Operator Contact Person: Jay Ablah	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 636-2222	(circle one) NE SD NW SW
Contractor: Name: Duke Drilling Co., Inc.	Lease Name: Mary Nation Well #: J
License: 5929	Field Name: Wildcat
Wellsite Geologist: Jerry Honas	Producing Formation: NONE
Designate Type of Completion:	©Elevation: Ground: 1130* Kelly Bushing: 1138*
X New Well Re-Entry Workover	Flotal Depth: 4368 Plug Back Total Depth:
—— Oil —— SWD —— SIOW —— Temp. Abd :: Co	Simpunt of Surface Pipe Set and Cemented at Feet
Gas ENHR SIGW	Hemple Stage Cementing Collar Used?
X Dry Other (Core, WSW, Expl., Cathodic, etc.)	# Feel
公立 · · · · · · · · · · · · · · · · · · ·	BATErnate II completion, cement circulated from
Workover/Re-entry: Old Well Info as follows:	sx cmt.
Well Name:	80
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan D&A 97 7/30/03 (Data must be collected from the Reserve Pit)
Deepening Re-perfConv. to Enhr/SWD	, a a a a a a a a a a a a a a a a a a a
Plug Back Plug Back Total Depth	Chloride content
Commingled Docket No	Dewatering method used
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
	Lease Name: License No.:
Date Reached TD Completion Date or Recompletion Date Completion Date or Recompletion Date	Quarter Sec. Twp. S. R. East West County: Docket No.
INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas 67202, within 120 days of the spud date, recompletion, workover Information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs at TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply months if requested in writing and submitted with the form (see rule 82-3-nd geologist well report shall be attached with this form. ALL CEMENTING Submit CP-111 form with all temporarily abandoned wells.
gnature: A correct to the best of my knowledge.	KCC Office Use ONLY
le: Secretary Date: 9/26/00	
	Letter of Confidentiality Attached
bscribed and sworn to before me this 26thay of September	If Denied, Yes Date:
2000 VIRGINAL ABLAH	Geologist Report Received
dary Public: Oligenia () Some State of KANSAS	UIC Distribution
te Commission Expires: 12 Page 12-08-200	

Operator Name:No	ble Petroleu	m, Inc.	Lease	Name:_	Mary Na	tion	_ Well #:	
Sec. 11 Twp. 3	S. R. 1	☐ East ∰West	County	C.	umner Co	unty, Kansas	i	/
INSTRUCTIONS: Shot tested, time tool open temperature, fluid reco	and closed, flowing very, and flow rates	and shut-in pressure if gas to surface test	s, whether shi , along with fir	ut-in pre	ssure reache	d static level, hydro	static pressu	res, bottom hole
Drill Stem Tests Taken (Attach Additional Sheets)			Log Formation		ition (Top), Depth a	n (Top), Depth and Datum		
Samples Sent to Geolo	ogical Survey	X Yes No		Name			Тор	Datum
Cores Taken		Yes X No		Stalr Layto			791 215	-1601 -2025
Electric Log Run		Yes X No		KC	,11		315	-2125
(Submit Copy)		–		B/KC		3-	486	-2296
ist All E. Logs Run:			i	Marma			579	-2389
J	NONE				ssippiam		934	-2744 2077
			į.		rhook		267 336	-3077 -3146
			Simpson TD			4368		
		CASING Report all strings set	3 RECORD	New	_	chon etc		<u> </u>
Purpose of String	Size Hole	Size Casing	Weigh	1	Setting	Type of	≰ Sacjs	Type and Percent
Surface	12-1/4"	Set (In O.D.) 8-5/8**	Lbs. / F	t.	Depth 310*	Cement 60/40 Poz	Usea 310	Additives 3%cc 2%ge1
Surrace	12-1/4	0-3/0				100, 10 200		
				-				
		ADDITIONAL	L CEMENTING	/ SQUE	EZE RECOR	D		· .
Purpose.	Depth	Type of Cement	#Sacks Us	sed :		Type and Pe	rcent Additives	
Perforate Protect Casing Plug Back TO Plug Off Zone	Top Bottom	<i>'</i>						
Shots Per Foot		RECORD - Bridge Plui			Acid, Fra	cture, Shot, Cement S	queeze Record	
	Specify Foo	tage of Each Interval Per	rforated	<u> </u>		mount and Kind of Male	ria! Used)	Depth
			·					
JBING RECORD	Size	Set Al	Packer At	۱ ا	iner Run [Yes No		
tte of First, Resumerd Pro	duction, SWD or Enhr.	Producing Meth	hod					
DIA			F	lowing	Pumpir	ng Gas Lift	Other	(Explain)
stimated Production Per 24 Hours	Oil Bbls	Gas	Mcf	Water N/A	В	ols. Gas	-Oil Ratio	Gravity
sposition of Gas	METHOD OF COM	PLETION		/ P	roduction Inter	va!		
Vented Sold (If vented, Sumit A	Used on Lease ICO-18.)	Open Hole Other (Special	Perl.	Dual	lly Comp.	Commingled	·	

ALLIED CEMENTING CO., INC.

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566



Invoice Number: 082143

Invoice Date: 09/01/00

Sold Noble Petroleum, Inc. 3101 N. Rock Rd. #125 To: Wichita, KS 67226

15-191-22351-0000

Cust I.D....: Noble P.O. Number..: Mary Nation #1

P.O. Date ...: 09/01/00

Due Date .: 10/01/00 Terms...: Net 30

Item I.D./Desc. Q1	y. Used	Unit	Price	Net	TX
Common	45.00	SKS	6.3500	285.75	E
Pozmix	30.00	SKS	3.2500	97.50	E
Ge1	3.00	SKS	9.5000	28.50	E
Handling	75.00	SKS	1.0500	78.75	E
Mileage (70)	70.00	MILE	3.0000	210.00	E
75 sks 0\$.04 per s					
Rotary Plug	1.00	JOB	470.0000	470.00	E
Mileage pmp trk	70.00	MILE	3.0000	210.00	E
Dry hole plug	1.00	EACH	23.0000	23.00	E
All Prices Are Net,			total:	1403.50	
Date of Invoice. 1 1/2% Charged Thereafter Tax:					
If Account CURRENT t			ments:	0.00	21.
ONLY if paid within	30 days from Invo	ice Date Tot	al:	1403.50	

ALLIED CEMENTING CO., INC.

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566



Invoice Number: 082078

Invoice Date: 08/23/00

Sold Noble Petroleum, Inc. To: 3101 N. Rock Rd. #125 Wichita, KS 67226

Cust I.D....: Noble P.O. Number..: Nation #1 P.O. Date...: 08/23/00

Due Date.: 09/22/00 Terms...: Net 30

Item I.D./Desc. Q	ty. Used	Unit	Price	Net	TX
Common	120.00	SKS	6.3500	762.00	E
Pozmix	80.00	SKS	3.2500	260.00	TABLE !
Gel	3.00	SKS	9.5000	28.50	
Chloride	7.00	SKS	28.0000	196.00	8 18 19 18 18
	200.00	SKS	1.0500	210.00	E
Mileage (70)	70.00	MILE	8.0000	560.00	E
200 sks @\$.04 per	sk per mi				
Surface	1.00	JOB	470.0000	470.00	E
Extra Footage	10.00	PER	0.4300	4.30	
Mileage pmp trk	70.00	MILE	3.0000	210.00	E
TWP	1.00	EACH	45.0000	45.00	E
All Prices Are Net,	Payable 30 Days F	ollowing (Sub	total:#	2745.80	
Date of Invoice. 1	1/2% Charged There	after. Tax		0.00	
If Account CURRENT	take Discount of \$	274.58 Pay	ments:	0.00	
ONLY if paid within	30 days from Thyo	ica Data Tot	al:	2745.80	

10194 71730 85004